Pre-Calculus 12 ' Name: KEY
Ch.5 Test - Trigonometry Score: /2%

Practice Test

Multiple Choice
Identify the choice that best completes the statement or answers the question.
1. Convert 37 radians to degrees. UM=190" ——F Y = Hx _1%0" : 540"
a. 0.16° (c) 540°
b.  9.42° o d. 1080°
2. Convert 420° to radians. ; 1\’_ - |50 AT =
' z an X 470 1o
a ¢. =
7 77[ }( — é_z_._— ot} }.-@i ‘
3. Given a circle with radius 10 cm, calculate the length of the arc which contains a sector angle 8+ 2 radians.
‘ a=re
a. Smcm c. 10cm
b. 10z cm 200m a= |Ocm «7
a= Z0wum

4, A circle has a radius of 4 cm. If the length of arc AB is 37 cm, determine the measure of the central angle in

radians.
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5. A circle has a radius of 20 ¢cm. Determine the length of the arc subtended by a central angle of 135°.
a. éf Crri'l C. 57[ cm COVNEF{" \?)5—.9 JFD Vaa{aﬂs / -S- E?Y 45_
b. &cm 157 cm _{Y(___ = \80 ——— m:x
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6. What is the reference angle of 4% ? X= .gZEz
: o + 6= 2me 2
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7. Find the reference angle for 210°.
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8. Determine the exact value of tan?
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9. Determine the exact value of Sin[—s% ]
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10. Solve: ¢cscx=2,0<x <27
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- seox SINX *0
11. What is (are) the restriction(s) for the expression i ?a/
a. secx=0 | ¢, cosx=z=0
b. sinx =0 sinx # 0, cosx= 0

12. Ifesex >0 and cotx <0, in which quadrant does the terminal side of position angle x lie?

a I e m g A o 1 CSCA O
) d. 1V I Hun 504 >0
| T 1 C qued T oend I
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13.- If sinx = 7 determme_the smallest positive angle x, in radians. . % Co)r)( 0
Use caledtcfror , -
a. 0.68 @ 0.85 (n Cadion mode thien Tan £0 |
b. 0.72 . d 147 - quad L and T

iff SInA= 3/4 .
Yun %= st (753 =095

14. Yor what value of x is Sx undefined, where 0 <x < 2.
l+cosx :
a. 0 @ . L +CosX = QO
Vs 3z -
z 27 cosk * ~1
b. 2 d 2
4 XK=
15. Givensinfi= 3 and se{f? < 0, determine the ratio for cot &. ‘ . | w2y 47z gt
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16. What is the amplitude of the graph of the function f{x) = -2sinx+35

a. -2 | c. 3

2 d. 7 AMPLITUDE = \?-l

17. The graph of the function f(x) = sinx is translated 4 units up. What is an equation of the new function?

. flx) =sinx+4 c. f(x) =sin(x+4)
b. . f(x) =sinx-4 d. fix) =sin(x—4)
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, verod = 24T i this cose bzl

18. What is the period of the function f{x) = 2sin 3% ? b

a. -% c. 2w 'l‘u Peﬂofl = EE_T = 41Y
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19. What is the phase shift of the function f(x) = sin[Zx - %{] + % ?\m‘?{ 5\“‘% s _aé- T
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= | . 2 o sin (2 (1))
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20. A cosine curve has a maximum point at (3, 20) and the nearest minimum point to the right of this point is (8, 4).
Which of the following is an equation for this curve?
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phaye shitt & 3 wnits RiGHT
Short Answer ( SHOW YOUR WORK) o, (A-3)
21. Determine one positive and one negative coterminal angle to —250°
- 750"+ 360" = | 11O°
- 950 ~360 = |~610°
22. Determine one positive and one negative coterninal angle to %
}l+2ﬂ/:ﬁ+ 20 | 33T ﬁuz{rgiﬁ*éﬁi:’m
16 |5 15 3 5 5 = (5
23. Determine the exact value of ‘Ean%1r without a calculator.
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24. Determine the exact value of csc 3 without a calculator.
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27. Graph at least two complete periods of the equation y = -2 sin2x +1 .

Determine the exact values of the coordinates of the point that is 5 units from the origin in the quadrant IV, if ais

coordindie of the
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28. Find the period of the sine function which has a minimum point at [
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29. A Ferris wheel with a diameter of 60 m rotates once every 48 seconds. At time t = 0, a rider is at his lowest height

which 1s 2 m above the ground.

Determine a sinusoidal equation that gives the height, h, of the rider above the ground as a function of the elapsed
time, t, where he is in metres and t 1s in seconds. ‘
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